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46-

47-

48-

49-

50-

51-

52-

53-

54-

What is the content of ICAO Annex 8?
1) Aeronautical charts 2) Search and Rescue
3) Airworthiness of Aircraft 4) Operation of Aircraft

According to the “Aerodrome Reference code,” the “code letter A” indentifies an
aeroplane reference field length of................... .

1) less than 800 m

2) 1800 m and over

3) 800 m up to but not including 1200 m

4) 1200 m up to but not including 1800 m

What is the meaning of the abbreviation “MRP”?
1) Manufacturing Requirment Program

2) Maintenance Repair Planning

3) Material Resource Planning

4) Material Resource Price

A “Knot” is the basic unit of measurement for which of the following?
1) Pressure 2) Distance
3) Altitude 4) Airspeed

Where would you find the requirements and syllabus for maintenance license in
EASA approval?

1) Part-21 2) Part-66

3) Part-145 4) Part-147

What is the main scope of the “CAMO”?

1) Organizing and managing all documents for maintenance organization
2) Organizing and managing all documents for Aircraft ground handling
3) Organizing and managing all publications for Aircraft operation

4) Organizing and managing all documents for flight dispatch

What does CPCP stand for in Aircraft Structure?
1) Center of pilot common projects

2) Certified purchasing card professional

3) Corrosion Prevention and Control Program

4) Conceptual programme for cyclic prepration

Where is the reference datum line in aircraft usually placed?
1) Near the aft of the aircraft 2) Near the nose of the aircraft
3) Near the aft of the wing root 4) Near the fwd of the wing root

Which of the following is not a function of hydraulic reservoir?
1) Cooling fluid

2) Purging fluid of air bubbles

3) Compensating for fluid leakage

4) Providing a means of heating fluid in cold weather
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55- If the weight of the aircraft increases, how will the minimum drag speed be
affected?
1) It will not change
2) It will decrease
3) It will increase
4) It does not depend on the weight of the aircraft

Passage:

Despite organizational differences that exist among countries, one thing is common to
all: namely, the constraint that the product must be “fit for the purpose”. It is
interesting to observe that organizational structures in the East and the West are
beginning to converge in their approach to aircraft design. The West is replacing its
vertically integrated setup with a major investor master company in the integrating role
along with risk-sharing partners. Since the fall of communism in Eastern Europe, the
socialist bloc is moving away from specialist activities to an integrated environment with
risk-sharing partners. Stringent accountability has led the West to move away from
vertical integration—in which the design and manufacture of every component were done
under one roof-to outsourcing design packages to specialist companies. The change was
inevitable—and it has resulted in better products and profitability, despite increased
logistical activities. The aircraft design process is now set in rigorous methodology, and
there is considerable caution in the approach due to the high level of investment
required. The process is substantially front—loaded, even before the project go—ahead is
given. Aircraft design phases include market surveys and airworthiness requirements. A
product must comply with regulatory requirements, whether in civil or military
applications. New designers must realize from the beginning the importance of meeting
mandatory design requirements imposed by the certifying authorities.

56- Which one of the sentences is correct?
1) Western countries try not to outsource design and manufacturing
2) Western countries are trying to integrate design and construction.
3) Western countries are trying to reestablish the vertical integrated setup.
4) Western countries are shifting from focused construction to professional centers

57- In what area are countries aligning?
1) Approach to aircraft design
2) Outsourcing design packages
3) Moving away from vertical integration
4) Moving away from specialist activities

58- What are the two steps involved in aircraft design?
1) Simple and beautiful design
2) Airworthiness requirement and market survey
3) Decreasing logistic activities and low price products
4) Outsourcing design package and using rigorous methodology
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59- What is common in all countries?
1) The product must be suitable for the intended purpose
2) The product must be outsourced for manufacturing
3) The product should have a simple design
4) The product must be affordable

60- What was the organizational structure of the Eastern countries?
1) It was based on integrated environment with risk-sharing partners
2) It was based on meeting mandatory design requirement
3) It was based on a high level of investment
4) It was based on specialist activities
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